Solid models of this enclosure available in STEP or IGES.

RM4U1913SBK

Extruded Aluminum Frame - Type 6063

2 Panels - .064" Aluminum (5052-H32) Powder Coat
2 Mounting Brackets - .125" Aluminum

16 Screws - Flat Head 4-40 x 3/8"

8 Screws - Counter Sunk Head 6-32 x 3/8"

4 Screws - Counter Sunk Head 10-32 x 3/8"

3.18 mm
TO.HNm in]
f
323.83 mm
[12.749 in]
Q (=]
SECTION B-B
330.18 mm |
[12.999 in]
)
o o
® °
@

415.30 mm
[16.350 in] T%mwﬁﬂ
[@) [ f
173.13 mm
[6.816 in]
(@] O
SECTION A-A
421.65 mm | |
[16.600 in]
B-
[ s ﬁ s ]
|
|
: | :
|
, 330.18 mm
7 [12.999 in]
W
L “\\‘\\‘\\#\\‘\\‘1‘1 T
A ﬁ A
|
|
@ ]
|
! . W > ]
7 _w.L 482.61 mm 7
! [19.000 in]
ASSEMBLY - VIEW FROM TOP \wamwmﬁﬂ
HANDLE
+ | Le——MOUNTING
, HOLES
165.10 mm 177.04 mm
[6.500 in] [6.970 in]
L# &,T
& ol
g l:T 4.37 mm
6.35 mm 466,10 mm [0.172 in]
[0.250 in]" [18.350 in] !

ASSEMBLY - VIEW FROM FRONT

ASSEMBLY - VIEW FROM SIDE

16 Nuts - #4 Speed Nuts

Four Self Adhesive Rubber Feet - 1421T3

PULL HANDLES 1427P1BK

HAMMOND
MANUFACTURING -

RM4U1913SBK

www.hammondmfg.com




